BC-08

June — Examination 2023

B.Com. (Part II) Examination

Cost Accounting
Paper : BC-08

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 2x7=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (1) Define Cost Accounting.
TR SR 1 Y TaEy|
(ii)) How to calculate Raw material consumed ?
FHeal Hid YA fohd YRR 9 TR s ?
(ii1) Put up the formula of maximum Stock Level.
Afereram ek WR A HL HT B S0 |
(iv) Define First in First Out Method.
o A Yo friea fafy &1 sasw)
(v) What is Idle Time ?
FEET T = 2
(vi) Explain about Variable Cost.
qREd=eiel TN & o) H THET
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(vii) How to calculate Machine Hour Rate ? 4. Explain the objects of Unit Costing Method.
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Section—B 4x7=28 5. Calculate factory cost from the following :

(Short Answer Type Questions)

71 9 ®REM @rd & AT RN ®)
Note -— Answer any four questions. Each answer should not
. ) Material 60,000
exceed 200 words. Each question carries 7 marks.
TUE_a Direct Labour 40,000
(g T q99) Direct Expenses 10,000
fider .- frel oW vt & s AT e e W Factory Overhead 50,000
sifyeram 200 v=a1 H qREf HINT T&® 99 ,
) Opening W.I.P. 10,000
7 3% H T
) o Closing W.L.P. 8,000
2. Define main characteristics of Halsey Plan.
. : ) : .
ST A g AT 6. What is Contract Account ? Explain the items to

. i be included in the Debit and Credit side of the
3. Discuss about Normal Idle Time and Abnormal

Idle Time contract account.
A SIS T99 Td ST hEEE 999 % 9R | ST T T 7 Th SR T h Sfee T shiee M
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7. Explain the formula of Absolute Tonne kms and
Commercial Tonne kms.
Tfers o fRAHeR s vl o fRae W
UM A F R SAET |

8. Explain about Normal Wastage and Abnormal
Wastage.
T & TS STHMNT & & o) H 9uemsy |

9. Calculate the P/V Ratio and B.E.P. from the

following :

o o
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Year Sales %) Profit %)

2021 2,70,000 30,000

2022 3,00,000 42,000
Section-C 2x14=28

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 14 marks.
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10. The following information are of X Ltd :

e fatres & fe geed © ®)
Sales 10,00,000
Variable Cost 6,00,000
Fixed Cost 3,00,000

Calculate the following :

=1 =t o wifST

(i) P/V Ratio

(i1)) Break-even Point

(ii1) Margin of Safety

(iv) Sales to earn a profit of ¥ 2,00,000
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11. Calculate the Labour Cost from the following :
=1 @ g\ o I wiNY
(i) The Rowan Scheme
(i1)) Halsey 50% Scheme

Time Allowed 6 hours
Time Taken 4 hours
Rate per hour %3

12. How to calculate the profit on incomplete contract
account to be transferred in P & L Account ?
Explain with the formulas.
3TV} SR R AT B | e o W o @y
w1 frufor fFm yer fFan s & 2 ween wfeq
HHSATRY |

13. Write short notes on the following :
(i) Bin Card
(i1)) Stores Control Card
frafafes w= @y feufirl fafeT -
() o1 =
(i) =R freso w e

BC-08/7 (7) T-—4566



